
Name: _______________________________   Date: _________ 
PC: Decomposition       Ms . Loughran 
 
 
Do Now: 
 
Find two functions f and g such that    (g ! f )(x) = h(x)   
 

1.    h(x) = (2x +1)2       2.    h(x) = x2 − 43  
 
 
 
 
 
 

3.  
  
h(x) = 1

x + 2
      4.    h(x) = (1− x)3   

 
 
 
 
 
 

5.  
  
h(x) = 4

(5x + 2)2       6.  
  
h(x) = −x2 + 3

4− x2   

 
 
 
 
 
 
 

7.  
  
h(x) = 27x3 + 6x

10− 27x3   
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Name:_________________________________   Date:____________ 
PC: Review of Linear Functions     Ms. Loughran 
 
A linear function is a function defined by the equation ( )f x mx b= + , where “m”  is 
called the slope and “b” is called the y-intercept.  This equation is called the slope 
intercept form of a line.  The graph of a linear equation is a straight line. 
 
 
 
Formula for slope: 
 
m =       
 
 
 
Other ways to write the equation of a line: 
 
Point slope:  
 
 
 
 
 
Standard form: 
 
 
 
Parallel lines have ___________ slopes. 
 
Perpendicular lines have slopes that are _____________  ________________. 
 
Horizontal lines are in the form y = __________.  Slope of a horizontal line is ________. 
 
Vertical lines are in the form x = __________.  Slope of a vertical line is ________. 
 
 
 
Exercises 
 
1.  Find the slope of the line passing through each pair of points. 
 
 (a)  ( 2,0)and (3,1)−        (b)  ( 1,2)and (2,2)−  (c)  (0,4)and (1, 1)−  
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2.  Find an equation of the line that passes through the point (1, 2)−  and has a slope of 3  
      in:   

(a)  point slope form 
 (b)  slope intercept form 
 (c)  standard form 
 
 
 
 
 
 
 
 
 
 
 
 
 
3.  Find an equation of  the line, in standard form, that passes through the points  
    ( 4,0) and (2,3).−  
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